12a1029 (K12a1029)

(\7 O, Linearized knot diagam
i N S

\/1/“\/ 4 7 8 10 11 2 3 1 12 5 6 9

Solving Sequence

: 12 > - 5H - -4 —> 9 — — 2 — 7 — — Co, C
A knot diagranfl] 6127 1125 > 10 >4 >0 > 1 2 > 7 > 8+ 35 C2.07

Ideals for irreducible component#ﬂ)f Xpar

I = (' w4 =202+ 1)

* 1 irreducible components of dim¢ = 0, with total 40 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1
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ul? — 70 + 17u® — 16w’ + 6u? — 5u? + 1
—ul? 4+ 600 — 1208 + 8ub — u* + 202

(u40+u39+---—2u2+1>

I. Ii‘ =
(i) Arc colorings
0
ag = U
1
a2 = \ 0
1
a1l = U2
—Uu
as = \ —ud +u
—u?+1
a0 = \ —ut + 202
ud —2u
as = \u® —3ud+u
ut —3u?+1
ag = —ut + 2u?
ud —5ub + Tut —2u2 4+ 1
ay = —u8 4 4ub — 4yt
a9 = (
—u3 +18ud + -+ 8uP —u
ar = \ —u? +19u3 + .- —ud +u
ag = (

u?® —16u?" + - —8ud —u
a3 = \ —u? + 150"+ —ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes

w'® — 9y + 31ul? — 50010 + 3908 — 2208 + 18u* —4u? + 1
wl® — 10u!% + 390t — 74412 + 7109 — 40ud + 26uS — 120t + w2

)

= — 4437 4+ 80u35 — 4u3* — T16u>? + T6u32 4+ 3776u3! — 640u3° — 13020129 + 3140428 +

30896127 — 9940126 — 52168u?® +21336u2* 4 65184123 — 32132u?? — 64416u>' 4+ 35572u20 +
544640 — 31380u® — 39892117 4 23748410 + 24224415 — 15004014 — 1282463 + 7500u12 +
6132u!! —3152u10 — 220442 +1016u8 + 768u” — 2006’ —192u® — 24u* +40u® +12u% —12u+2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1 w — 133 + -+ - + 21440 — 367
Cc2,C3,Cq u40_u39+_.__2u2+1
Cr
C4,Cs,C10 u40_u39+_“_2u2+1
C11
Cg, Cg, C12 U40+5U39+"'*8U+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
ol y*0 — 23y + ... 4 70036y + 134689
Cc2,C3,Cq y4°—47y39+~-~—4y+1
C7
€4, C5, C10 yl0 — 43 . —dy+1
C11
cs, Cg, C12 yi0 + 41930 + - — 204y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u= 0.542571 4 0.6515321

—15.0860 + 7.91091

—4.88905 — 5.840841

u= 0.542571 — 0.6515321

—15.0860 — 7.91091

—4.88905 + 5.840841

u = —0.527459 4 0.6362971

—6.73096 — 5.710351

—3.24171 + 7.293091

u = —0.527459 — 0.6362971

—6.73096 + 5.710351

—3.24171 — 7.293091

u = 0.464297 4 0.6680091

—15.3188 — 3.46631

—5.54451 — 0.118601

u= 0.464297 — 0.6680091

—15.3188 + 3.46631

—5.54451 + 0.118601

u = —0.473418 + 0.6452601

—6.89082 4 1.377811

—3.87753 — 1.009491

u = —0.473418 — 0.6452601

—6.89082 — 1.377811

—3.87753 4+ 1.009491

u=0.499489 + 0.6252571

—4.40181 + 2.120741

0.59127 — 3.191821

u=0.499489 — 0.6252571

—4.40181 — 2.120741

0.59127 + 3.191821

u = —0.618622 4 0.3962141

—7.28607 — 4.583841

—1.01784 + 7.014561

u = —0.618622 — 0.3962141

—7.28607 + 4.583841

—1.01784 — 7.014561

u= 0.718137

—5.12638

3.48520

u= 0.572228 4+ 0.3167611

0.05545 + 3.045631

2.18963 — 10.1132171

u= 0.572228 —0.3167611

0.05545 — 3.045631

2.18963 4 10.113211

u= 1.40155

—3.93842

0

u = —0.528521 + 0.1600541

0.971034 — 0.3962531

8.46848 + 1.437781

u = —0.528521 — 0.1600541

0.971034 + 0.3962531

8.46848 — 1.437781

u = —0.201519 4 0.5012571

—8.55103 + 1.481541

—5.89219 — 0.001721

u = —0.201519 — 0.5012571

—8.55103 — 1.481541

—5.89219 + 0.001721

u = —1.46893 4.21738 0
u = —1.48557 + 0.206511 —8.98600 + 0.325731 0
u = —1.48557 — 0.206511 —8.98600 — 0.325731 0
u= 149641+ 0.193081 —0.46594 + 1.622391 0
uw= 149641 — 0.193081 —0.46594 — 1.622391 0
u = —1.51559 4 0.187861 2.21863 — 5.039061 0
u = —1.51559 — 0.187867 2.21863 + 5.03906.1 0
uw= 153784+ 0.045151 7.95920 4 1.141761 0
u= 1.53784 —0.04515] 7.95920 — 1.141761 0
u= 152750+ 0.197151 0.03564 + 8.728491 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
uw= 1.52750 —0.197151 0.03564 — 8.7284971 0
u = —1.54376 + 0.076251 7.16214 — 4.395971 0
u = —1.54376 — 0.076251 7.16214 + 4.395971 0
u = —1.53396 + 0.205871 —8.24623 — 11.031401 0
u = —1.53396 — 0.205871 —8.24623 4 11.031401 0
u = 1.55491 + 0.100831 0.00334 + 6.332301 0
u = 1.55491 — 0.100837 0.00334 — 6.332301 0
u = —1.56390 2.49097 0
u= 0.189740 + 0.3652991 —1.060900 — 0.5900181 | —5.58523 + 1.451231
u= 0.189740 — 0.3652991 —1.060900 + 0.5900181 | —5.58523 — 1.451231




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 u® — 13u3% + -+ 21440 — 367
C2,C3,Cp S V. C BT, Yy R |
Cr
C4,C5,C10 PP T P |
C11
g, Cy, C12 u® +5u 4 —8u+ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 y0 — 23539 + ... 4 70036y + 134689
C2,C3,C6 y40—47y39+~--—4y+1
Cr
€4, Cs5,C10 yt0 — 4330 4. —dy 41
11
c8, €9, C12 Y0+ 41y + . — 204y + 1




